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(EcoNoMICS)

1. When the demand curve is a rectangular
hyperbola

(i) total expenditure onthe commodity does
not vary with change in price.

(i) elasticity of demand is unity.
(iii) the concerned good is necessarily a
normal good.

(iv) proportion of given budget spent on the
commodity remain fixed.

Codes:

(A) Only (i) is correct

(B) (1), (i1) and (iv) are correct
(C) Only (iv) is correct

(D) All are correct

2. The tendency of purchasing a commodity
by someone, only because others in society are
having this, is known as

(A) Veblen effect

(B) Bandwagon effect
(C) Snob effect

(D) Price effect

3. Consider an industry comprising two firms
with identical and Constant Marginal Cost, and
facingdemand curve Q=1-P.Let W, W, and W,
denote welfare under perfect competition, Cournot
duopoly and Stackelbarg leadership respectively.
Rank W, W, and W, .

(A) W, >We=W,
B) W, >W, > W,
(C) We= W, =W,
(D) We=W,>W,

4. Aneconomic region of production consists
of

(A) the highest point of all isoquants.
(B) the negatively and positively sloped
portion of all isoquants.

(C) the negatively sloped portion of all
isoquants.

(D) only the points on the expansion path.

1. T4 Bifzwi (@20 rectangular hyperbola, 2=
(i) T3 Tola @G 3 Wit e #AfFafee
2l
(i) Bifen= nivere RfegiFoR s «F |
(iii) TET 7l ==z e s w37 |
(iv) TRIOF BHF 2me AICEs IR Siole 73
= |
(T
(A) s (i) AP
B) (), (ii) 9% (iv) A=
(C) syl (iv) Ao
(D) TRufrz AT

2. IS S TG (I BRI G- (0 (72
7 TR YIS @ &
(A) Veblen &9l
(B) Bandwagon Z®lq
(C) Snob &el9
(D) T ZeN

3. g6 TR @ e [ s, aoE
e 531 A1 @< Fz @2 Bifal @ Q = 1 - P
w1l T, fefswifael, Cournot duopoly @3}
Stackelbarg leadership N(®(T welfare 267 IR
We, W, @R W | Wi, W, @R W, -G T St
Ao e |

(A) W >2We>W,
(B) W, >W;>W,
(C) W2 W >2W,
(D) W2 W, >W

4. TeoAwa TLfST e Ao Fa
(A) AW @LF A 79 |
(B) G (@A ANEF R LISF
I ST |
(C) STRAWH @A AT GRS A |
(D) Bg@ IR A Sofd [z |
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5. The Inada condition are applicable to
(A) well behaved investment function.
(B) well behaved consumption function.

(C) well behaved technical progress
function.

(D) well behaved production function.

6. Consider the following statements and
choose the correct answer:
(i) Incaseofeconomies ofscale, the average
cost (AC) is falling.
(i1) In case of convexity of cost function
marginal cost (MC) is falling.
(iii) In case of concavity of cost function
marginal cost (MC) is falling.
(iv) In case of economies of scale marginal
cost > average cost.

Codes:

(A) Only (i) and (ii) are correct
(B) Only (i) and (iii) are correct
(C) Only (iv) is correct

(D) Only (i) is correct

7. Assume that the consumption basket of a
utility maximising consumer consists of only
2 goods X and Y. Assume further that she spends
a quarter of her income on good X and the income
elasticity of demand for good X is 0-5. What is the
income elasticity of demand for good Y ?

(A) 1-17
B) 121
©) 113
(D) 1-66

8. If two goods X and Y are substitutes, the
relationship between the price of Y and quantity
demand of X will be

(A) Positive
(B) Negative
(C) Elastic

(D) Inelastic

5. Inada *I$ &@e 1
(A) JTIRRLE [ SAFa (0 |
(B) RIS (O] SAFEH (G |
(C) RIRRFIE 2 [G 2P S (T |
(D) THIRTLE TAM SAFCHT (T |

6. A5A TfeoTz Raval w5 @k 7% Teald
bizrs T ¢
(i) Tgore R F0g 916 7 (AC) fmaliSit |
(i) T&s TI-SPFEH CFea 2IfeF 8 (MC)
IBERIEE
(iii) SIS AI-SCHHF (FCg AfGd 3
(MC) fgsist |
(v) W@iee AR CF0 2ifeF 7 > G 7 |
PIT ¢
(A) ©Y (i) €% (i) AT
(B) ©¥ (i) @R (iii) A=
(C) g (iv) Mo
(D) @y (i) <

7. ST, (@ Aol TR i e
COT09R JTTTo Uib ¥y X @R Y AR(Z | 920 e (T
(7 O SR §F-5gei! X TCR1E Boid A5 03 3%
73y X-49 SRee bifenis Zfogiermel 251 0-5 | 74y
Y-93 s vifevia fZfegisieel 2@

(A) 1:17
(B) 121
©) 113
(D) 1:66

8. 3 76 ¥y X @R Y «Afaas/ e =7, o
Y -3 WG A X G SIfEwE oA e 7=l 2@

(A) 493

(B) q9Ts<s

(©) Tfezsie
(D) wifzfegI7w



9. Forutility function of arisk averse individual
(A) the marginal utility would be
increasing.
(B) themarginalutility would be constant.
(C) the marginal utility would be first
decreasing and then increasing.
(D) the marginal utility would be
decreasing.

10. Given the demand function p=45-0-5Q, the
consumer’s surplus when p; = 32-5 and Q=25 is
(A) 15625
(B) 15525
(C) 15025
(D) 157-25

11. The exports of good of a country G = G(¢)
has a growth rate of o/f and its export of services
S =S8(¢) has a growth rate of B/¢. What is the growth
rate of total exports X(¢) = G(t) + S(¢)?

GB + Sa

A
(A) %

B) Ga + SB

©

o+

D)

~

12. Suppose, there are 2 utility functions
U=f(,y),V=FU)=F[f(x,y)]
Choose the correct answer from below

U/ A
@ =y

U.X VX
X X
® g7y
y y
U.X F' V.X
y y
AR
TR
y y

07-11

9. 2 Wi Torifare! S (%
(A) 2Afes Tociforet THAIT 2 |
(B) aifes Toicaiforet 23 21|
(C) 2fEs Tormfore 2w FFasl @3z
N TN 20 |
(D) 2ifess Bociforet Fmaid 2= |

10. 27€ BIRAIEL 2 p = 45-0-5Q, GITH(G T4
P, = 32'5 4=k Q, = 25, O (SI&IH THE 27
(A) 15625
(B) 15525
(C) 15025
(D) 157-25
11. ¢ (e g@a QT G = G(r) @R 9
e 2 =T o/t | G QI 281 S = S(r) 9. 99

e 27 251 Blr | (NG AR Jiard 2 Fo @E
WM X(1) = G + S(1)?

GB + Sa
tX

(A)

(B) Ga + SB

©

D) “*P

~

12. < 3%, 46 SHARINSl SCowe =Iite—
U=f(x,y), V=FU)=F[ f (x, y)] 53 (A AT

& e
WEJ[L D[P P

u/ Vv,
A Ty, =

B) —*
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13. Match the following:

List-1 List-11
(a) Second order (i) Duopoly
condition

(b) Integral calculus

(c) Complementary
function

(ii) Difference equation
(ii1) Hessian determinant

(d) Conjectural
variation

Codes:

@ ® @© @
A () @G Gi)  (@v)
B) (i) Gv) (i) (@)
© Gv) @ Gi) (D)
D) @iy @Gv) (1) (D)

(iv) Producer’s surplus

14. If the marginal revenue (MR) and average
revenue (AR) be equal and constant then the total
revenue curve (TR)

(A) would be linear from origin.

(B) would be a straight line with an
intercept.

(C) would be parallel to horizontal axis.

(D) would be parallel to vertical axis.

15. Consider an exchange economy with goods
x and y and agents 1 and 2 whose endowments are
(W', w)=(0,9) and (w?, w3) = (10, 0) respectively.
The utility function of 1 and 2 are
u,(x, y) = min{x, y} and u,(x, y) = min{x, y}
respectively.
The allocation that gives (10, 9) to 1 and
(0,0)to 2 1s
(A) Pareto efficient but not a competitive
equilibrium allocation.
(B) neither Pareto efficient nor a
competitive equilibrium allocation.
(C) a competitive equilibrium allocation
that is not Pareto efficient.
(D) a competitive equilibrium allocation
that is Pareto efficient.

X-6

13. <A™ Match 4 ¢
I OlferP-ll
(a) Second order (i) Duopoly
condition

(ii) Difference Al
(i11) Hessian determinant

(b) Integral calculas

(c) Complementary
AT

(d) Conjectural
variation

P8

(@ G (© (@
A @ G G Gv)
B) i) Gv) @ @O
© Gv) @) @) (i)
D) (i) Gv) @O (D)

(iv) Producer-&% @Q@

14. 37 2ifSF o7 @32 51T o7 AT @R B =@

(A) AR (TP AT 2 |
(B) Intercept-212 AKE(I (A |
(C) g (IR ST 2 |
(D) T @R TS T(A |

15. 96 fsm wTife Reava s, @A xe
y 76 77 @3 1€ 2 9f6 e, AWM endowments
TAGFE 2 (W), w) = (0,9) &R (W%, w3) = (10,0) |
GTerS 18 2-9F TR SIoFF 24, TG
u,(x, y) = min{x, y} @R u,(x, y) = min{x, y} |
qrErs 1 € 2-937 IqW IAFA (10, 9) €
(0, 0) 2T, (12 I
(A) IR, 58 Aforifa o Sy
T
(B) I cacsl weE, « efswifareneE
OISR |
(C) eforiiaTonETs SRSy Al ARG v
T
(D) AfSITSTSIERR SIS A AN 75 |



16. In economics the ‘open market operation’
refers to an action by

(A) SEBI

(B) Reserve Bank of India
(C) Commercial Banks
(D) Private Banks

17. Inthe Complete Keynesian Model, amoney
wage cut is completely ineffective in raising the
level of employment, when

(A) LM curve is vertical on ‘Y —r’ plane.

(B) IS curveis horizontal on ‘Y —r’ plane.

(C) Aggregate demand curveis vertical on
‘Y — p’ plane.

(D) Aggregate demand curve is horizontal
on ‘Y —p’ plane.

18. Intheclassical macroeconomic framework,
the volume of aggregate supply expands as

(A) Money supply increases.

(B) Government expenditure increases.
(C) Production organisation improves.
(D) None of the above

19. ‘Human Capability’ and ‘Human Capital’
are related in which way?

(A) They are completely separate concepts.

(B) Formeris amuch larger superset of the
latter.

(C) Latteris asignificantly larger superset
of the former.

(D) They are similar concepts.

20. In the context of the problem of financing
economic development, Kalecki proposes

(A) Green Revolution
(B) Socialist Revolution
(C) Land Reforms

(D) Black Revolution

07-11

16. S<qifore open market operation (CAIeTl
SRR I T T FI7 S 2

(A) SEBI

(B) Reserve Bank of India (%7 A71%)
(C) Commercial Banks (Jifeifens 5=o12)
(D) Private Banks (J7f&5T® 71%72)

17. 5™ @eein oo, oifds Sgam g
RIS I FACO QI A9 27 T4

(A) LM @21 T&F Y — 1’ plane-9 |

(B) IS @?ﬁ@lﬂ@ﬁ?ﬁ Y —r’ plane-9 |
(C) G Bifzwl (@4 TFF Y — p’ plane-9 |
(D) GBIz @i \N-;L\gl?l@ ‘Y —p’ plane-9 |

18. &=l macro SLIfore NG (SISl 2Ifsne
PAfe 27 A4

(A) = celala I #AR |
(B) IR A I =M1 |
(C) TesAWe B! THASTIL FCH |
(D) ToIER (@I 719 |

19. SEERT FTHAS! QR AT JAL IS
Tl 7
(A) @31 5=y fom aiget|
(B) = SR (A == A0 (76 |
(C) == 2 (A S 0! (76 |
(D) 931 GFEF Qe |

20. LT SR FLAEIE AT (A
Kalecki 2®7 SR
(A) 7@ [z
(B) “iersifes e
(C) i 7wz
(D) g fazq
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21. In the Monetarist framework

(A) money is neutral.

(B) the effect of a money supply change
on employment is uncertain.

(C) money supply change is always
effective in influencing employment.

(D) money supply change is always
ineffective ininfluencing employment.

22. In the Real Business Cycle theory, money
supply is
(A) Exogenous
(B) Endogenous
(C) Fixed
(D) Fluctuating

23. The best way to handle a situation of
stagflation is

(A) Monetary expansion

(B) Fiscal expansion

(C) Production subsidy

(D) Information dissemination

24. To reduce the trade deficit and to increase
the output of a country in the short-run, which of
the following policies should be taken?

(A) Devaluation of the domestic currency
(B) Contractionary monetary policy

(C) Adoption of a fixed exchange rate
(D) Inward looking policy

25. The Simple Keynesian Model assumes
(A) underemployment equilibrium and
price rigidity.
(B) fullemploymentand Absolute Income
Hypothesis.
(C) effective demand problem and full
employment.

(D) effective demand problem and price
flexibility.

X-8

21. Monetarist FSICI ST

(A) o1 e A |

(B) SLAR9912 RS e eI SR
Qo7 AR5 T |

(C) YRR ARG FORFIE €27
W PRSI 2T |

(D) W1 RN AAAS TR @91
FYE P T |

22. Real Business Cycle ©g SIS CREEERIEY
(A) Tfesfre
(B) wresfze
(C) fz=m
(D) wifzq

23. Stagflation »IfafEfex GrAIfE Fa= =D
TollT 25

(A) =Nfef TP
(B) Reflet st
(C) ool T
(D) S 2R

24, 93 @7 FEPElw Alfaeraibis go @3k
T Iiad T s fetis (e ifs sizel 521 Sfoe 2
(A) (R TR ST
(B) TRFHIIES WL i
(C) fzz s 27 Aifs aizel
(D) =gy e

25. Simple Keynesian Model SlXI<ell (S
(A) FFFiRmei ST 43R IETT
ECPEIE)
(B) ‘Tf FNE € Absolute Income
Hypothesis
(C) Effective demand =118 foﬁ?{‘i?ﬂ

(D) Effective demand 51 € YN
EPEIEIO)




26. During a phase of deep depression

(A) LM curveishorizontal and IS curveis
vertical.

(B) LM curve is vertical and IS curve is
horizontal.

(C) LM curve is horizontal, IS curve is
vertical and AD (Aggregate Demand)
curve is horizontal.

(D) LM, IS and AD all are vertical.

27. Match the following two series:

List-1 List-11
(a) K. Arrow (i) Endogenous Growth
Theory
(b) D. Romer (i) New Keynesianism
(¢) R. Lucas (iii)) New Classical Theory

(d) E.Prescott (iv) Real Business Cycle

theory

Codes:
@ ® @© @
A () @Gy Gi)  (v)
B) @Gv) (i) () @)
© @ G (@>Gv) (i)
D) ) (Gv) G (i)

28. Using the usual notations, we can write the
equation for an expectation augmented Phillips
Curve as

(A) TT=T1+a(u, —u)
(B) M=I1°+o(u—u,)
© Y=Y +B(P Pe)
(D) Y=u, +a(I-T)

07-11

26. TS WK AR
(A) LM @RI Sgfis @2 IS (39l Umy

2 |

(B) LM ®¥l TH¥ 9% IS @4l Sefis
2 |

(C) LM @4l Sef, IS (@4 THy 9]
AT BIfen! (@21 (AD) SIS A |

(D) LM @41, IS (@4l @3z AD (R4l oy
2 |

27. 5T it Prives crene ¢

ol Ol
(a) K. Arrow (i) Endogenous Growth
Theory
(b) D. Romer (i1)) New Keynesianism
(¢) R. Lucas (iii) New Classical Theory

(d) E.Prescott (iv) Real Business Cycle

theory

(PG 8
@ @G © @
(A @ @) (i) @[Qv)
B) Gv) (@Gi) () @)
© @ Gy (Gv) (i)
D) @ 3Gv) () (i)

28. BeI® notation JGIRT F(I expectation
augmented Phillips Curve-93 FFIE ISl
@A AR ?

(A) TT=T1+a(u, —u)
(B) H=He+oc(u u”)
© Y=Y +B(P Pe)
(D) qun+oc(He—H)
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29. Match the following:
List-1
(a) Group equilibrium
(b) IS-LM framework (i1)) Chamberlin
(¢) Quasi-rent (iii) Walras
(d) General Equilibrium (iv) Marshall
Codes:
@ () (© (@
A) () (@) (v) (i)
B) G (@G (@Gv) (D)
©) Gv) @Gi) (@G >
D) @ () @) o (Gv)

List-11
(1) Hicks-Hansen

30. Consider the following statements:

(i) New Keynesianism considers Rational
Expectation Hypothesis and Efficiency
Wage Hypothesis.

(i1) New classical school considers Rational
Expectation Hypothesis and a possibility
of unanticipated shock.

(iii)) Keynesianism considers Adaptive
Expectation Hypothesis and Absolute
Income Hypothesis.

(iv) New Keynesian school considers
RATEX and coordination failure.

Select the correct statements using the code
below:

(A) (1), (i1), (ii1) and (iv)
(B) (i) and (iii)

(C) (ii) and (iv)

(D) (1), (ii1) and (iv)

31. The term ‘informal sector’ was coined by
(A) K. Marx
(B) K. Hart
(C) A.Sen
(D) D. Harvey

X-10

29, FHfTie St 7iocE @@e ¢
ol ©IfeFI-I1
(a) Group equilibrium (1) Hicks-Hansen
(b) IS-LM framework (i1) Chamberlin
(¢) Quasi-rent (i11) Walras
(d) General Equilibrium (iv) Marshall
(1o 2
@ @G © @
A @ @G) @(v) (i)
B) Gi) @) (Gv) (i)
© @Gv) @) (@G @)
D) @ () aGi)  @(Qv)

30. sRTe Ieyalr REpal T ¢
(i) New Keynesianog Rational Expectation
Hypothesis € Efficiency Wage
Hypothesis RGI5= 7 |
(i1)) New classical 9§ Rational Expectation
Hypothesis € Sizep*e Sfeaites Al
TR 6 |
(iii)) Keynesian ©€ Adaptive Expectation
Hypothesis € Absolute Income
Hypothesis RGN 33 |
(iv) New Keynesian ©9€¢ RATEX s
Coordination Failure a5+ S |
fsfie @e g 3@ AT I
fo14e ¢
(A) (1), (i), (iii) @R (iv)
(B) (1) @R (iii)
(C) (i) @R (iv)
D) (1), (iii) 9= (iv)

31. WH@T\?W (Informal Sector) *@f6 2%
(AR [E

(A) K. Marx
(B) K. Hart
(C) A.Sen
(D) D. Harvey



32. The turning points in the Lewis-Ranis-Fei
framework appear due to

(A) Capital accumulation

(B) Increaseinmodern sector productivity
(C) Supply constraint

(D) Wage increase

33. The effectiveness of the Big Push theory
fundamentally depends on the following:

(A) Planning process

(B) Expectation formation by the agents
(C) Governance

(D) Motivation of the agents

34. Low-level-equilibrium-trap occurs, when

(A) rate of growth of output is more than
the rate of growth of population.

(B) rate of growth of output is less than
that of population.

(C) rate of growth of output is equal to
that of population.

(D) rate of growth of output is less than
that of investment.

35. Ricardian profit squeeze has been
introduced in the context of development by

(A) A.Lewis
(B) R. Nurkse
(C) H. Leibenstein
(D) W. W. Rostow

36. ‘Rational Fools’ is written by
(A) K. Marx
(B) M. Weber
(C) A.K. Sen
(D) V.I. Lenin

X-11
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32. Lewis-Ranis-Fei framework-93 fesel
I T =7

(A) Capital (SET4e) ARG

(B) g cFeaa SesAmrleTers I
(O WeciRCERIRIEES)

(D) g Jfa

33. Big Push (g3 Sf@Ifael (Nfrweia féq
I3 e Remefm Sos

(A) s s

(B) Agent-(73 2feyisi 15w
(C) TRER =

(D) Agent-(v< (A<l

34. NSET OREIRY F7 (rdl AR, T4

(A) TAMEE I T GPRAE
RIGEIRIcICITN

(B) AW Jad 29 TR Jia
RIS (ACE I |

(C) Tesiwe Jfand 21 GePIRIR Jiard QA
S AN |

(D) Testma Jfaa 7 Rivcmes I
RIS (TP I |

35. TFHGIE AfaFe Ricardian profit squeeze
RN (F 2 e ?
(A) A.Lewis
(B) R. Nurkse
(C) H. Leibenstein
(D) W. W. Rostow

36. ‘Rational Fools’ feTcatzs
(A) K. Marx
(B) M. Weber
(C) A.K. Sen
(D) V.I. Lenin
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37. According to Sen, development implies

(A) to be able to achieve a high rate of
economic growth.

(B) to be able to achieve a high level of
happiness.

(C) tobe able to acquire a large basket of
commodities.

(D) tobeabletoexpressand choose freely.

38. The selection of cricket team for the World
Cup is based on

(A) Random sampling

(B) Systematic sampling

(C) Non-probability sampling
(D) Cluster sampling

39. The correlation coefficient is the
of two regression coefficients.
(A) Geometric mean
(B) Arithmetic mean
(C) Harmonic mean
(D) Median

40. In a two variable linear regression model
the correlation coefficient between dependent and
independent variablesis 0-8. Whatis the percentage
of variation in dependent variable explained by the
independent variable?

(A) 0-64%
(B) 64
<) 8
(D) 80
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37. CTE &3] SRS SFREs o1 2
(A) TdfeT a43faa @3l Twaa v
FACS AT
(B) 049 @36 THEH TGl FACS A |

(C) @6 0T SNFER AT FANDT SGre]
JIACO AT

(D) FETOIR 2P G2 %W FA0 2 |

38. feiteR ooy fareaes e diveTa fofe 2
(A) Random sampling
(B) Systematic sampling
(C) Non-probability sampling
(D) Cluster sampling

39. sfig>ifes ™A€ @S (correlation
coefficient) &g 1zraq (regression coefficient)
|

(A) SRS 51C (Geometric mean)
(B) sNfdfess 51 (Arithmetic mean)
(C) Harmonic 5% (Harmonic mean)
(D) gyt (Median)

40. 9T 2 variable regression model-9
dependent €<® independent variable-4s Ny
correlation coefficient 257 0-8 | G103, dependent
variable-99 F© ¥eixw #fd3$ (variation)
independent variable QI T 1 W 2

(A) 0:64%
(B) 64
©) 8
(D) 80



41. Consider the following primal problem
Max z=2x+15y

Subjectto x+2y<4

3x+y<6

x+y<4
How many choice variables and constraints

would be there in the dual problem?

(A) 3 choice variables, 2 constraints
(B) 3 choice variables, 3 constraints
(C) 2 choice variables, 2 constraints
(D) 2 choice variables, 3 constraints

42. Match the following:
List-1

(a) Multicollinearity
(b) Cointegration

List-11
(i) Johansen test

(i1) Farrar and
Glauber test

(c¢) Robust standard error (iii) CUSUM test

(d) Stability of (iv) White
coefficients heteroscedasticity
test
Codes:

(@ b (© (@
A) () @) @Gv) (i)
B) ® G 3> 3Gv)
©) Gv) @) @G ()
D) Gi) G G Gv)

43. Which of the following estimation
techniques can be employed for the estimation of
all identified simultaneous equations jointly?

(i) Limited
likelihood.
(i1) Full information maximum likelihood.

information maximum

(iii)) Three stage least square.
(iv) Indirect least square.

Codes:

(A) (i) only

(B) (ii) and (iii) only
(©) (1), (ii) and (iii) only
(D) (@) and (ii) only

X-13
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41. 57 primal TG R T
Max z=2x+15y

Subjectto x+2y<4

3x+y<6

x+y<4
Dual 7571fore e choice variable (551F)

g3 2fSI%SF (constraints) AFCE 2

(A) 3f5 choice variable, 2 afeass
(B) 3 choice variable, 3% #fesms
(C) 2 choice variable, 2 #fesms
(D) 2f5 choice variable, 3 afsass

42. ek GEne ¢
List-1
(a) Multicollinearity
(b) Cointegration

List-11
(1) Johansen test

(i1) Farrar and
Glauber test

(c¢) Robust standard error (iii) CUSUM test

(d) Stability of (iv) White
coefficients heteroscedasticity
test
(T2

(@ G (© (@
A @ @ >Gv) (i)
B) @@ ) () (Gv)
© Gv) (i) @ @O
D) Gi) Gy GO Gv)

43. =fEIe @9 estimation “&@fowfeg Mwm
(6 identified simultaneous equations (F GFT(5%
estimate <1 AT ?

(1) Limited
likelihood.
(i1) Full information maximum likelihood.

information maximum

(iii)) Three stage least square.
(iv) Indirect least square.
(T2
(A) =Y (D)
(B) ©¥ (ii) 9=R (iii)
(C) - (1), (i1) 9R (iii)
(D) B8Y (1) 9k (ii)
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44. Box-Pierce statistic follows which of the
following distribution?

(A) Normal distribution
(B) t-distribution

(C) Gamma distribution
(D) Chi-square distribution

45. Which of the following statements is correct
regarding the average prices if the present price
index is 1107

(A) The prices have increased by 110
percent on an average.

(B) The prices have increased by 10
percent on an average.

(C) The prices have decreased by 10
percent on an average.

(D) The prices have decreased by 110
percent on an average.

46. If the expectation of a Poisson variable X is
1then P(X < 1)is

(A) 1-2¢"
B) 1-Cly.e!
©) ¢!

D) 1

47. The customer accounts of a departmental
store have an average balance of 31200 and standard
deviation of I400. Assuming that the account
balances are normally distributed, identify the
closest percentage of the accounts which have
balance below Z1500.

(A) 773
(B) 629
(C) 585
(D) 452

48. The level of significance in a hypothesis
testing procedure is the probability of

(A) type I error.

(B) type II error.

(C) rejecting the Null hypothesis.
(D) accepting the Null hypothesis.

X-14

44. Box-Pierce statistic o3 (@ e GG
GRS
(A) Freifis orem
(B) -Rerew
(C) Gamma i
(D) Chi-square e

45. IS -5 (Price Index) I 110 27,
O 9% I (average price) TG @ e
Ao 2

(A) T (price) Me*0F1 110(%) (TSR |
(B) &7 (price) 1% *o41 10 (%) (A0SR |
(C) &7 (price) G #9110 (%) FEC= |
(D) 3T (price) o1& *eF41 110 (%) FEICZ |

46. I @3 Poisson variable X-93 siifdfes
qoi e 1,9 P(X < 1)

(A) 1-2¢7"
B) 1-Cly.e!
©) ¢!

D) 1

47. a3 TSI WP (TSI account-9 1%
ool g 1200 @3% 2w [pife 7@ 34001
Account-9 & FreRFei@ [Keifere (Normal
Distribution) @ fItx, ¥ 1500-93 (A& I
SIS0 58] Aol account-43 Al Za1

(A) 773
(B) 629
(C) 585
(D) 452

48. Hypothesis testing TICS level of
significance 272 ANHA @B TSI (probability ) ?

(A) type I error

(B) type II error

(C) Null hypothesis #ifsrensl =1
(D) Null hypothesis &2 <1
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49. Chi Square test is used

(i) toexamine the degree of deviation of the
observed frequency from the expected
frequency.

(i1) to test the closeness of observed and
expected frequency.

(iii) to test the population variance.

Codes:

(A) Only (i) is correct

(B) Only (i) and (ii) are correct
(C) All (1), (i1) and (iii) are correct
(D) Only (iii) is correct

50. Consider the following two equations
1) Q,=a;-b/P+cl+u....
(i) Q =a,+bP+c,WHu,. ...
and Q,=Q,=Q
Where Q and P are endogenous variables;
and I and W are exogenous variables.

State as per the order condition of
identification which of these two equations are
identified.

(A) Only equation (i)

(B) Only equation (ii)

(C) Both equations (i) and (ii)

(D) Neither equation (i) and nor equation

(ii)

10 4
51. Given, uz{ } v={ }, which of the

6 8
following is a convex combination of # and v?
A [7
(A) 7
B 52
® |2
o [62
© |49
b 8
(D) B

07-11

49. SI5F IR Chi Square test IR T 27 2
() eeriffs #foan (frequency) (U
sferfre siforar fRgfea sl 1S
41 |
(i) »fzefre ¢ e ifprana afqoe
A 40|
(iii) NAEFE (ew (population variance)
A 41|
PO 2
(A) 8 (i) #ow
(B) ¥ (i) 93 (ii) 7F
(©) (1), (ii) €% (iii) FAeFE Ao
(D) Y (iii) A
50. () Q=a;-b/P+cl+u....
(i) Q =a,+bP+c,WHu,. ...
Q,=Q,=Q &
Toitaa 12 AT Q @R P ze wEsfge
variables @3% [ @38 W Z& 25fZ variables |
Identification-&< order condition (O,
oIS (@ TRae identified ?
(A) w8y AT (i)
(B) w2 (ii)
(C) AT (i) 9% (i) T3
(D) a9 (i) @R (i) AR T

51. S I, u:{ﬂ v{ﬂ,ﬁﬁ%ﬁmﬁa
T (0 Tes TR S T |
A (7
(A) 7
B 52
® |74
o (62
© | g,
b 8
(D) B
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52. In a single shot Prisoner’s dilemma game

(i) the non-co-operative outcome is Nash
equilibrium but Pareto inefficient.

(ii) the co-operative outcome is non-Nash
outcome but Pareto efficient.

(iii) the non-co-operative outcome is Pareto
efficient.

(iv) the co-operative outcome is Nash
equilibrium.
Choose the correct option from below:
(A) Both (i) and (ii) are correct
(B) Only (ii) is correct
(C) Both (iii) and (iv) are correct
(D) Only (i) is correct

53. Let the consumption and saving functions
be given as

C =100+ 0-20Y
S =-100 + 0-80Y
Whatis the value of investment multiplier?
(A) 80
(B) 50
©) 5
(D) 125

54. When total cost C =%Q3 —30%+90, the

level of output where average minimum cost occurs
is at

(A) %
® =
© 2
D) g

X-16

52. (I 9F G35 *{5 I Tl (4T (Prisoner’s
Dilemma Game)
(i) SHZIN e 267 Nash S i€ Pareto
OV |
(i1) FEEIA T 26 non-Nash T @
Pareto W= |
(iii) SPTRERIS T 257 Pareto W |
(iv) =4 T 261 Nash SN |
fsffices Sy @ Als sl oW

P S
(A) (i) 9% (i) A=
(B) (&F&NIG (i) Z&1 S
(C) (iii) @R (iv) 412 AT
(D) &G (i) 2o A0S

53, @ (ORI Q3R AR P (SICHF) 25
C =100 + 0-20Y @38
S =-100+ 0-80Y
ol RN ge@a e 2@—
(A) 80
(B) 50
© 5
(D) 1-25

54, 749 @G I C=§Q3—3Q2+9Q, Qi
SR A APIET Teoive B 20

| ©

(A)

(B)

©

D)

O|lh K[O Ol N
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55. An Input-Output model which has an
endogenous final demand vector is known as a/an
(A) Open Input-Output model
(B) Closed Input-Output model
(C) Static Input-Output model
(D) Dynamic Input-Output model

56. Which of the following statements about a
matrix are correct?

(i) (A) =A
(i) Therank of an n X n non-singular matrix
A will be equal to n
(iii) (AB) = A'B’
(iv) (A" =AY
Codes:
(A) (i), (i1) and (iv) only
(B) (i), (ii) and (iii) only
(C) (i), (iii) and (iv) only
(D) (1), (iii) and (iv) only

57. Solution of the equation tdy + ydt = 0 is
(A) ty=c
B) y=ct
O t+y=c
D) t-y=c
Where c is a constant value.

1 2 4
58. Rankofamatrix X =9 18 36 |isequal
to 6 2 1
(A) zero
(B) one
(©) two
(D) three

55. (@Il @F ToAME-Beoma model, @A
endogenous oS bifEn (S35 R, GIGIE a0
(A) open Input-Output model
(B) closed Input-Output model
(C) static Input-Output model
(D) dynamic Input-Output model

56. Matrix /(& NpF (@ Sfeaf 7w
(i) (A)' =A
(i1) (n x n) non-singular matrix A-€< rank
26 p-dad I
(iii) (AB) = A'B’
(iv) (A" = (AT
(PIo2
(A) 84 (i), (i) 9R (iv)
(B) ©Y (i), (i) 9K (iii)
(C) &y (i), (iii) 9R (iv)
(D) B84 (1), (iii) 9% (iv)

57. NS tdy + ydt = 0-4F TN 2

(A) ty=c

(B) y=ct

©) t+y=c

D) t-y=c

@ ¢ 2o G FEaslia |
1 2 4

58. Matrix X ={9 18 36 |-99 rank 257

6 2 1

(A) X0

B) 9

© w2

(D) Tev
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59. Laffer Curves inedicates the relationship
between
(A) tax rate and tax evasion.
(B) marginal and average tax rate.
(C) tax rate and tax revenue.

(D) tax revenue and government
expenditure.

60. Match the following events (with reference
to Central Government) with their year of
occurrence:

List-1 List-11
(a) End of automatic monetisation (i) 1997
of government deficit from RBI
(b) Introduction of Gender Budget (ii) 2017-18
(c¢) Enactment of FRBM Act (ii1) 2005-06
(d) Merging of Railway Budget  (iv) 2003
with General Budget
Codes:
@ ® @© @
(A) Gi) (@v) (@) (@)
B) @ @) @(Gv) (D)
© Gy @G @ aGv)
D) @ (Gv) (@) (D)

61. Given below are some international
organisations and their headquarters. Which of
them are correctly matched?

(i) GATT : Geneva
(i) IMF : Washington DC
(iii) World Bank : New York
(iv) Asian Development Bank : Manila

Codes:

(A) (i), (i1) and (iv) only
(B) (i), (ii) and (iii) only
(C) (i), (iii) and (iv) only
(D) (@) and (ii) only
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59. Laffer (@21 7% Jfo® T
(A) F(EF T 9% I 1T & |
(B) I % 1T (A TR M |
(C) I(EF T R 9 TIPS S S0y |
(D) 2 i ST G IR AE T |

60. T FTFIES “AfcafFce N G
TS AT K GG ¢

-1 eIl
(a) RBI (U7 FIFIEF Qiofed (i) 1997
Frfe Jsmieacea e

(b) Gender Budget-9< 2ATE
(c) FRBM Act-4F a3
(d) ST ACSCHA ACK (TSR
QSO GFQIF
(T8
@ @ © @
(A) (i) (@v) Gi) (1)
B) () @) (v) (i)
©) Gi) @i 3G (v)
(D) @@ @dv) Gi) (i)

(i) 2017-18
(iii) 2005-06
(iv) 2003

61. J5 g WEEfeF WIF AN @R O
headquarters (FSTSNE | (RFITSTE AT G
IR ?

(1) GATT : Geneva

(i) IMF : Washington DC

(i11)) World Bank : New York

(iv) Asian Development Bank : Manila
(1o 2
(A) 84 (i), (ii) 9 (iv)
(B) ©Y (i), (i) 9K (iii)
(C) &y (i), (iii) 9R (iv)
(D) BY (1) 9K (ii)
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62. Which of the following statements is not
true about pure public goods?

(A) These goods can be provided to an
additional person at a zero marginal
cost.

(B) Free riding is common problem
associated with pure public goods.

(C) Publicly provided education services
is example of pure public good.

(D) Private markets may undersupply
public goods.

63. Ifwiththeincreaseinincome,the percentage
of income collected as tax remains constant, tax
will be called

(A) Regressive
(B) Progressive
(C) Proportional
(D) Neutral

64. Which of the following statements is true
regarding the relative burden of the tax on buyers
and sellers?

(A) Ifdemand curveis steeper than supply
curve then buyers bear relatively
higher burden.

(B) If supply curve is flatter than demand
curve then sellers bear relatively
higher burden.

(C) If demand curve is flatter than supply
curve then buyers bear relatively
higher burden.

(D) Both (A) and (B)

07-11

62. e TRl wy AN lere (@i e
AT T2
(A) @@ Tl =7 difes @ qFew
wfeiie e ami T T |
(B) Free riding Rew MR w@7 &
@G A= ST |
(C) ==I7 2vre Ml 7l es sl
TIE G0 i |

(D) AT TR GE I RAZ
A9 AT |

63. Tt =1 faa e e, T9 R ReFe
SRE =i F2 A FIeFE F9-(F @0
(A) Regressive
(B) Progressive
(C) Proportional
(D) Neutral

64. (ol ¢ RiTo ToF T QIS (@RI
s RS @i T w0t Ther
(A) 3w Sifwt =it ceatsiiey it gorerial i
%! T, O (] GERETReI (I
A @RI T2 I |
(B) I cenlsiiey (1l Bifew (i etz
Yl 23, OIRE [RiFe] G
(AT <L (I <= < |
(C) 3fit oife @4l oM @R R
%! T, O (] GERETReI (I
A RN 724 FCEH |
(D) (A) 9= (B) T®EE
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65. Which of the following statement(s) is/are

65. Waysand Means Advances (WMA) &S
nottrue about Ways and Means Advances (WMA)?

(i) Itisatemporary loan facility by RBI for
Government.

(ii) Ifcannotbetradedinthe Security Market.

RS @ Teqn/-aF 70F 7372

(i) FEIEE &= RBI @i Srgif 2o s |
(ii) Security Market-9 @f6 (FICI6! 41 T

(iii) Limits of WMA is decided only by RBI. . ! P
(iv) Only Central Government can avail of (iii) o RBI WMA= A fedfae 0o
this facility. e
Codes: (iv) (TG (T AR G2 AR A4
) e =i
(A) (ii) only T

(B) (iii) only
(C) (iii) and (iv)
(D) (iv) and (i)

66. Match the following:
List-1 List-11
(a) Ad Valorem Tax (i) Tax paid by the

person on whom the
tax is incident.

(A) 4w (i)
(B) &I (ii)
(©) (1) @R (1v)
(D) @Gv) 4@k (1)

66. Ol Q7 A eIl GIET 2
olferspr-1 ol
(a) Ad Valorem Tax (i) @& ¢ F©

P9I
(b) Surcharge @) ?Olizailgsorf};:evz (b) Surcharge (i) R Smesn V{iﬁ%@
particular purpose. TRIOTLETR @IS |
(c) Cess (iii) Temporary tax levied (c) Cess (i) wfefe aEEma oo
to get additional IicAe S 59 |
revenue. (d) 2orF 9 (iv) 93 RIGIE] SAF
(d) Direct Tax (iv) Tax levied on the P 99|
value ofacommodity.
Codes: Wg(a) ® © @
(A) <(f3 <(ibv)> ((li)) (<(11)) () ) () (i) )
® (v i) G 0 (B) (v) (G )
© G G @O G (© @i v
® ) (v (i) G Oy vy G
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67. Which of the following is/are not a part of
a G-Sec. (Government Securities)?

(i) Cash Management Bill
(i1) Dated Securities
(iii) State Development Loans
(iv) Appropriation Bill
Codes:
(A) (i) only
(B) (i), (i) and (iv)
(C) (iv) only
(D) (iii) and (iv)

68. Assertion (A) : Money is a link between
the present and the future.
Reason (R) : Money is a store of value.
Select the correct option:
(A) Both(A)and(R)are true, and (R) is the
correct explanation of (A).
(B) Both(A)and (R) are true, but (R) is not
the correct explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

69. Which of the following statements is correct
about the term ‘bank run’?

(A) Bond holders and depositors suffer
due to higher rate of inflation.

(B) Apanicsituation when depositholders
start withdrawing cash from the banks.

(C) The period in which banks create the
highest volume of creditin the market.

(D) The period during which the banks

mobilise the highest volume of
deposits.

07-11

67. WHbeieeslr W @Wh/-el TR
PSR =1l 772
(i) Cash Management Bill
(i1) Dated Securities
(iii) State Development Loans
(iv) Appropriation Bill
(1o 2
(A) B (1)
(B) ©g¥la (i), (i) 9K (iv)
(C) BgEg (iv)
(D) (iii) 93R (iv)

68. [A3/E(A) ¢ WL TEAM 9K ST K
AR |

JE(R) 2 9L YETF SleF |

o Tex Foa T ¢

(A) (A) @2 (R) 762 AfGF, @k (R) T
(A)-a3 AT =T |

(B) (A) @R (R)4HZ7 <, € (R),(A)-97
(I A |

(©) (A) A=, 5% (R) T |
(D) (A) &=, 72 (R) 70|

69. ‘Bank run’ ~IfFe gl @ 3@
A 2

(A) THHITFS T SRR T HIfeq
T FIEF &) YUo19128 27 |

(B) @b wefFs »fFfzfe g smiTesaai
[IF (A L G = |

(C) 95 FTHIE T4 AT ASIE A
AT A9 AR R |

(D) O<f6 TIPS T T A6 ATl
IIIT® AL A |
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70. Which of the following is/are correct?
(i) M;=C+DD+0OD
(i) M, = M, + Saving deposits with post
office saving banks.
(iii)) M3 =M, + Net time deposits of banks.
(iv) M; =M, + Net time deposits of banks.
(v) My = M, + Total deposits with post
office savings banks.
Codes:
(A) (i), (i1) and (iii) only
(B) (1), (ii) and (iv) only
(©) (), (iii) and (iv) only
(D) (i), (iv) and (v) only

71. Which among the following measurs would
result in an increase in the money supply in the
economy?

(i) Purchase of government securities from
the people by the Central Bank.

(ii) Deposit of currency by the people in
Commercial Banks.

(iii) Borrowings by the government from the
Central Bank.

(iv) Sale of government securities to the
people by the Central Government.
Codes:
(A) (i) and (iv) only
(B) (ii) and (iv) only
(C) (1) and (iii) only
(D) (ii), (iii) and (iv) only
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70. fsfaResim S @mb/-of Al
(i) M; =C +DD + 0D
(i) M, =M, + (oIPBeRR Gife iE-a9
Y S |
(iil) M; =M, + TICEF A ST SIS |
(iv) Mz =M, + JICES N6 I S |
(V) My=M, + (%P5 SIfRF EIRo JIEd (6
S |
(T 2
(A) g (i), (i) @R (iii)
(B) ST (i), (ii) @3 (iv)
(C) ST (i), (iii) @R (iv)
(D) ©gNF (i), (iv) 9% (V)

71. TN @ Amhe G SLGIET =L (SIS
s =2
() (FE AR A G5 6 (A T
Security (6499) &
(ii) S=ar =R Al e @l o=l
>iii) TP I (YR FIF (ACF A2
(iv) (R AT B T91ICE AP Security
[Er
(PG 8
(A) Y (i) 938 (iv)
(B) 4 (ii) 93X (iv)
(O) ©g (i) 93r (iii)
(D) ¥ (ii), (iii) 9% (iv)
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72. Assertion (A) : There exists inverse 72. 7%77%(14) g A T AR AT NN oS
relationship between ﬂmﬁgﬂ@l
interest rates and bond . PPN
prices. FFY(R) ¢ 0TI IO WIN 202 IS [
Reason (R) : Abondpricerepresents the T (Rre) 7|
value of the payments E‘ﬁ G %{%CWWE\%QTB mﬂﬁb"l P S
agreed upon at the time (A) (A) A5 &g (R) 71

when the bond was issued.
Choose the correct alternative:

(B) (A) #3s 77 52 (R) 7=

(A) (A)is correct, but (R) is not. (©) (4) ¢ (R) TemR o @ (R) =1

(B) (A)is incorrect, but (R) is correct. (4)-a7 Ao feae

(C) Both(A)and (R) are correct, and (R) is (D) (4) o o (R) ¢ o, e (R)
the correct explanation of (A). (A)-a A3 <1t =7 |

(D) (A) is correct, so is (R), but (R) is not
the correct explanation of (A).

73. Which of the following is considered as an 73. FHF @G @ LR JegF gL
appropriate measure of openness of an economy? Afasot 2
(A) Exports — Imports (A) I — =mifa
Exports + Imports st
Exoorts + Imbort TG Srer@ e TesAwe
(C) SXPoms T MPOrts ) I + S
Population ©) = el
D Exports - N
(D) Imports (D) S
74. The Prebish-Singer hypothesis maintains 74. Prebish-Singer SLIFel SEII!
that (A) FEFS sl e Tre @l
(A) The less developed countries always A e WL & A |

gain in trade when they trade with

developed countries. (B) © (IS (IRY Lo I

I @ ey ol Afdey @R

(B) The less developed countries suffer a

welfare loss from a secular decline in FAZPTETS T FHS (9191 T |
terms of trade since they mainly export (C) FEITS @l QmHs Tl Seed
primary products. N S THA 27 |

(C) The less developed countries gain in (D) Jifeitea Stz fMsael qETS M Rice
terms of foreign exchange earnings. et Zﬂ% |

(D) Dependence upon trade enhances
inequality in the less developed
countries.
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75. In light of the following two statements,
choose the correct answer from the options:

(1) The terms of trade of a nation are
defined as the ratio of the value of its
exports to the value of its imports.

(i1) The terms of trade of one of the trade
partners is equal to the inverse of
same of the other partner.

(A) Both (i) and (ii) are correct.

(B) Both (i) and (i) are incorrect.

(C) Statement (1) is true but statement (i)
is incorrect.

(D) Statement (i)isincorrect but statement
(i1) is correct.

76. Stolper-Samuelson theorem establishes a
relation between

(A) Prices of factors and relative factor
rewards.

(B) Relative prices of output and relative
factor rewards.

(C) Relative prices of output and absolute
factor rewards.

(D) Prices of factors and absolute factor
rewards.

77. Under a managed floating exchange rate
system, the nation’s monetary authorities intervene
in foreign exchange markets to

(A) smooth out fluctuations in the
exchange rate.

(B) keep exchange rates fixed among a
group of nations.

(C) keep the exchange rate flexible.

(D) Maintain the exchange rate ata higher
level against the currencies of

countries with whom the country has
a trade deficit.

X-24

75. Fwe 9 Sfew (afrre Al Tex o
e S

(i) 96 oreea TRl ¢ SwmifEE e
SHASCE G (eI Afferey [ 2=
el 27 |

(i) =% resizr Aiferey f&fea =9 iR (resia
e FifeTenae ST (e S 2R
51de =3 |

(A) (1) 932 (i) Te2 AT |

(B) (i) 9=k (ii) @FIH 7w 77|

(C) (i) 7= &g (i) Al 771

(D) (i) A< 77 5@ (ii) A |

76. Stolper-Samuelson theorem (HI &I
TR TR (A ?
(A) TAMIEE AN G AR SoAl o1y
(B) =AM AR Wi @2 SNCoAfHrs
T T
(C) SAMHT SR WM @3 AW
(absolute) Tl &
(D) TAMITATIN @32 2175 (absolute ) TATI

T

77. @3 “fGIfere floating exchange rate
system-9 (<1 SNfF ForF fcwie @ T
Rl R IS CFea 2BEF I 2

(A) e e o wwite

(B) Torg oo ey fafemma ez @ormn 2
BINIA)

(C) f&fas 77 T [eice

(D) 3ifirey @iofe At el wiF @Feg
e s [T g7 O qieee
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78. A country has a deficit in its balance of
payments and the sum of elasticities of its exports
and imports is less than one. If the country devalues
its currency, what will be its impact on its BoP?

(A) The deficit will come down.

(B) The deficit will remain as it was.
(C) The deficit will further aggravate.
(D) The deficit will convert to a surplus.

79. Assertion (A) : Customs duties primarily
influence commodity price.

Reason (R) : Quantitative restrictions

are designed to influence
the goods imported and
exported.
Which of the following is correct?
(A) Both(A)and(R) are true and (R) is the
correct explanation of (A).
(B) Both(A)and(R)are true, but(R)is not
the correct explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

80. The Heckscher-Ohlin theory of trade is
based on the assumption that

(A) there is perfect competition in product
market only.

(B) there is perfect competition in factor
market only.

(C) there is perfect competition in both
factor and product market.

(D) there is unemployment in labour
market.

81. A Pareto optimum equilibrium provides us:
(1) efficient solution
(i1) unique solution
(iii) a solution that compensates the losers
(A) (i) and (i1) are correct.
(B) (ii) is true.
(C) (i) and (iii) are true.
(D) () is true.
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78. @3 @ee sifqeeiicss RewE (Balance of
Payments) 915® IRI2 €32 93 AT € Ssmifeiae
RiogIoTo @Ioee G (A 3 | I @G o
G T 03 O 93 SAfFeices e Ssig §
O 2T(J 2

(A) I6Fs grelle 21 |

(B) WG wtard SIcoiE AR |
(C) =ifs e Ifa i |
(D) w5l Tgers #IfHere 2 |

79. /%77% (A) ¢ Customs duties ZlARFSII

e whE deifie |
5 HAfEesTe AT Sl

2hz U(IF A € SImifa

Aelfe 1 |

e @I Afdw e

(A) (A) @ (R) A5, @R (R), (A)-43
AT |

(B) (A) @k (R) Texg 7% € (R)
(A)-43 A A7 7 |

(©) (A) A= g (R) AT 7711

(D) (A) 5= 7@ 75 (R) AP |

80. Heckscher-Ohlin Jifeey ogib @2 Sma=e®
IS CRIPCE

(A) vy wHF Gl o afswifare

P19 (R)

[REIERI

(B) sy Tt Qverica #j¢fst eiforaifarel
[REIERIC

(C) Tl ¥R TR SR Toz sfefie
Aferaifarel fare

(D) e qrenied (9l Wiz |

81. Pareto ACASY SIFANY &AWl A2
(i) W ST
(ii) ST A
(iii) I A FreaRwma FrosEd o
(A) (i) @R (ii) AABF|
(B) 9 (ii) A |
(C) (i) 9 (iii) APF|
(D) sy (i) Ao |

[ Please Turn Over ]



07-11

82. The term ‘load factor’ relates to

(A) pollution emitted by a manufacturing
firm.

(B) working hours of labour in firm.

(C) environmental cost of productionin an
industry.

(D) proportion of production capacity
utilised by a firm.

83. Which one of the following is not a cause
of market failure?
(A) Externality
(B) Perfect competition
(C) Imperfect competition
(D) Public Goods

84. The Free Riding problem is likely to occur
in the following situation:

(A) A restaurant which remains open 24
hours a day

(B) A passenger train which runs within
the state

(C) An open air music concert in a public
park

(D) A commercial music concertorganised
in a private hall

85. According to Hotelling principle of pricing
of exhaustible resources—

(1) Current value of user cost rises at rate
of interest

(i1) Present value of user cost rises at rate
of interest

(i11) Present value of user cost remain the
same in all periods

(iv) Current value of user cost remains the
same in all periods

Choose the correct alternative from below:
(A) (1) and (i1) are correct.

(B) (i) and (iii) are correct.

(C) Only (i) is correct.

(D) Only (iii) is correct.
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82. ‘Load factor’ F4if6 fagfeie @@= a@@a
ez Al fFe 2
(A) CeAmI! TG =l ol 73l
(B) I ¥R B!
(C) @b fite Tesmea ifqcaisre 53
(D) @35 I 741 TS TeAMH TS
S

83. fanfafde @b ‘Market Failure’-9@3 ¢
3?2
(A) lfgel
(B) #ieft aifScaiferet
(C) wispefier eifscaifarel
(D) TR 7=y

84. TIFfeife @i #If7f2foTs ‘Free Riding” SR
(TRl TS AN 2
(A) T4 G (T WeeTa B 9512 caret
R
(B) T4 G6 TGIIZ] G A0SR &) BB
RJ&]
(C) T4 KR A T& W MACoT
S
(D) I3 ERFIR A9 el fErF 7R AMcow
S

85. wiw fdi@ed @%@ Hotelling Sifs SRS
SsreRTatsy 7% (exhaustible resource) &3
(i) User Cost-93 IS 1 e 2T

A0z IRelfere Jia 7 |
(i1) User Cost-&9 Wﬁ@ DI CE)

RICEREREY SO Rl

(i11) User Cost-49 Wﬁ@ ST AT
IRIFICET AN A |

(iv) User Cost-43 T9 6T A IR
I A |

AT Teq el s

(A) (i) 9= (i) A= |

(B) (i) @3¢ (iii) A= |

(C) Y (i) AT

(D) & (iii) AT |
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86. Which of the following value completes the
Life Table?

(=1

Age [ d L T

X X X X

7 190000 | 500 | 89750 | 4850000 | ?

(A) 50-39
(B) 53-89
(©) 55

(D) 51-40

R

87. Which of the following period is referred to
as the period of population explosion in India?

(A) 1901 - 1921
(B) 1951 -1981
(C) 1921-1951
(D) 1961 - 1991

88. Which of the following is not a component
of ecosystem services?

(A) Provisioning services
(B) Preservation services
(C) Supporting services
(D) Regulating services

89. Which of the following is not associated
with environmental valuation method?

(A) Choice Experiment method
(B) Hedonic Price method

(C) Open Window method

(D) Cost Benefit Analysis

90. Which is not in goal of SDG?
(A) Attain a higher growth of GDP

(B) Sustainable cities and communities

(C) Sustainable
production

consumption and

(D) Sustained life below water
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86. fasfeife @ Life Table o= w2

0

Age [ d L T e

X X X X X

7 190000 | 500 (89750 | 4850000 | ?

(A) 50-39
(B) 53-89
(©) 55

(D) 51-40

87. fFfS (@ TS ORod SR
RCEIRCER T @] 23 2
(A) 1901 - 1921
(B) 1951 - 1981
(C) 1921 - 1951
(D) 1961 - 1991

88. wfeTie @M ecosystem ARCEA Sotwie

3
(A) Provisioning services
(B) Preservation services
(C) Supporting services
(D) Regulating services
89. HfeT® @AM “RcoTe TURE “&od
A IS 72

(A) Choice Experiment afe
(B) Hedonic Price *&f®

(C) Open Window afe

(D) Cost Benefit Analysis

90. BT @FEH SDG-9F TGS 7372
(A) GDP-93 T g 2I9 Srere] 11
(B) Sustainable cities €<% communities
(C) Sustainable (S5 @R T
(D) TR o G I
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91. Ecological footprint concept is associated
with the name of

(A) David Pearce
(B) Robert Solow
(C) Charles Perrings
(D) William Rees

92. According to CMIE, employment rate in
Indiahasincreased from February 2022 to February
2023 in—

(A) Rural sector and whole of India

(B) Both rural and urban sectors

(C) Only in rural sector

(D) Both urban sector and whole of India

93. In India, tank irrigation is most common in
which of the following regions?

(A) Rocky plateau regions with uneven
and highly seasonal rainfalls

(B) River Basins

(C) Arid and Semi-Arid Regions with
Scanty rainfall.

(D) Coastal Regions

94. Which sector in India is the largest emitter
of green house gases in India?

(A) Transport sector

(B) Agriculture sector

(C) Domestic sector

(D) Electric Power Generation sector
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91. ‘sifqtaiofe *m=" (ecological footprint)
4R FIRRERS @M Ties At T 2
(A) David Pearce
(B) Robert Solow
(C) Charles Perrings
(D) William Rees

92. CMIE-43 %) Sl OOIET (I CHI
(G FORBIEE 29 @@ 2022 (A @EE
2023-97 K I (o2 ?

(A) el (0T @ T SIea
(B) ¥l CFGa @ *=(F (FC
(C) ©yEig A (Fea

(D) *2(d (4 € e SITeE

93, SIS FEIR® @ wwE ik 16
FRAGE @ @Ece e e
(A) AIgCa AeTgl wee] @ JRBATS
SRS @3] AgFel
(B) Tt st
(C) ©& O 2ANYF Te @ JBAS
RIRITf

(D) AYTCHS] T2

94, ST (@ (F (AT AL e Qe
21 S efe =712
(A) #if7=el ¢Fa
(B) I v
(C) gy cFg
(D) faye *if& Sesine (Fq



X-29

9S. Which organization in its 75th session
declared 2023 as the international year of Millets?

(A) UNDP
(B) WHO
(©) UN

(D) UNICEF

96. Identity the scheme behind which the idea
is to ensure that every person in an economy has
the means to live with certain freedom and dignity,
independent of capacity to earn or availability of
employment.

(A) Midday Meal

(B) Universal Basic Income
(C) Indira Aawas Yojana
(D) Krishi Vikaas Yojana

97. Among the following which one does not
fall under the National Action Plan on Climate
Change (NAPC)?

(A) National Solar Mission (NSM)

(B) National Mission for Enhanced Energy
Efficiency (NMEE)

(C) Pradhan Mantri Ujjwala Yojana

(D) National Mission for Sustaining the
Himalayan Ecosystem (NMSHE)

98. Who was the Chairman of the expert
committee which suggested a formula on
‘Consumption Expenditure’ for identifying BPL
families?

(A) Amartya Sen
(B) C. Rangrajan
(C) Suresh Tendulkar
(D) Kaushik Basu
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95, (FITATZI S O TR 2029 AAE
‘ST el T4 AR @rRel T2
(A) UNDP
(B) WHO
(C) UN
(D) UNICEF

96. Tl (@i Bl @ SR SiEa w2l
FOIEIET 3T DOE FATOIE TR
@ AT ST 772

(A) frere e

(B) TTfera @ 3N
(C) Il SR et

(D) IR M e

97. RN @ FeEft ey sifisy wcaEe
Tre % i (National Action Plan on
Climate Change, NAPC) S€@[ (T #7/?

(A) National Solar Mission (NSM)

(B) National Mission for Enhanced Energy
Efficiency (NMEE)

(C) Pradhan Mantri Ujjwala Yojana

(D) National Mission for Sustaining the
Himalayan Ecosystem (NMSHE)

98. @ fRsizm S celsrm f$e BPL #ftame

(A) 1] (7

(B) . aotaiee
(C) e (OGTTH
(D) @Iz 2]
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99. Which issue does not fall under 4-pillars of
Foreign Trade Policy (2023)?

(A) Incentive to Remission
(B) Reconstruction of Tariff rates

(C) Export promotion
collaboration

through

(D) Ease of doing business

100. State which is not a cause for external or
internal sickness of manufacturing industry.

(A) High costs of manufacture coupled
with a low realisation of sales revenue

(B) Non-availability of raw materials
(C) Improper choice of technology
(D) Development of Service sector
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99, @7 afRe [Eal ame ifter afe
(2023)-3 ST@5fe I BIST NCST AT 7?2

(A) T4 T G BT

(B) Tiifsicera 24 Al

(C) TR NG TFoifee Teziel
(D) IR e 7Iffefs toft wi

100. =S @ ReEe o i il ereredi
I 72

(A) T BeoAe I A e oifaaie Riamar-
ATy ToAG 1

(B) JIGMER e

(C) SPYe 2 oiwm
(D) +REal cFad TSI
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